Construction division. Advice for giving credit to contractors/suppliers.

Sl. No. – site bills		281			Date - site bills			ls	2 -2 -21				
register Company Name:					-	Register				07-03-21			
Name of Contractor		MRMallepy				Site:				02-03-21 CMR			
			Ra	mbal	94								
	re of work	Carpenty.											
Worl	k done	Fro	From Date			25.02.21 To		Date 01.03.		03.21			
Sl. No.	Villa/Flat/block no	O. Qty.		Rate		Unit	S	Amou		Contractors bill no			
1.	A-102, 104,10	5									om no		
2.	205 th	d,											
3.	Mondon		L	1	450		No's 181		0 0				
4.	Refron Lor	1) 12		375		No	_	4500					
5.	Told down			375		N61		70	00				
6.	ublity dur				375		No.	5		00			
7.	,												
8.													
9.													
10.										·			
11.		otal:	otal:				0		01	800			
Bill	required	□ YES BNO.			GST bill requir			red DYES NO.					
1	surement &	☑ Required				Measurement &			Directored				
	NO no.	☐ Not required			estimate sheet:				□ Not enclosed				
			PO/W			WO date:							
Rem	arks: Note >	A	U	War	10	(Jong	le	ted				
)				
							9 //				The second secon		
Appı	roved by Project Ma	er	Approved by Design Team				Approved by M.D.						
Date	: 02.03.2	210		Date:				Date:					
Sign	Sign: V wark.				Sign:					Sign:			

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

Bill for Equipment Allowance

Ram Babu, Mallapur, Hyderabad

Date: 03.03.2021

In favor of:

MR Mallapur LLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

Door shutters fixing work done at A-block.

Towards:

Allowance for Equipment

S No.	Description	Amount
	Brief description of work done: Towards Door shutters fixing with hardware and door stoppers in A-102,104,105,205 flats at A-block Total Amount =10,800/-	
	Work done from date 25.02.21 to date 01.03.21.	

Amount in words: Four Thousand Three Hundred Twenty Rupees Only..

Sign: B. RauSaby

Bill for Equipment Allowance

Ram Babu, Mallapur, Hyderabad

Date: 03.03.2021

In favor of:

MR Mallapur LLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

7

Door shutters fixing work done at A-block.

Towards:

Allowance for Equipment

S No.	Description	Amount
	Brief description of work done: Towards Door shutters fixing with hardware and door stoppers in A-102,104,105,205 flats at A-block Total Amount =10,800/- Work done from date 25.02.21 to date 01.03.21.	

Amount in words: Four Thousand Three Hundred Twenty Rupees Only..

Sign: B. Rawaby

Bill for Labour Charges

Ram Babu, Mallapur, Hyderabad

Date: 3.03.2021

In favor of:

MR Mallapur LLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

Door shutter fixing at A-block.

Towards:

Labour Charges

	Amount		
S	Description		
No.	Towards Door shutters fixing		
1.	Brief description of work done: Towards Door shutters fixing	Rs.4,320/-	
	with hardware and door stoppers in A-102,104,105,205 flats at	1.5,=	
	A block Total Amount = 10.800 /-		
	Work done from date 25.02.21 to date 01.03.21.		

Amount in words: Four Thousand Three Hundred Twenty Rupees Only.

Sign: B. Rusabu

	I D					
						Ramprasad
					Sign:	
Pam Dahu	nxing at A-102,104,10	05,205				
03/03/2021						
Item Head	Item Description	Quantity	I Inite	Pata	A	T
	Item Bescription	Qualitity	Oillis	Rate	Amount	Item Head Total
A-block	Maindoor	4.00	No's	450.00	1800.00	
	Bedroom doors	12.00	No's	375.00	4500.00	
	Toilets	8.00	No's	375.00	3000.00	
	Utility	4.00	No's	375.00	1500.00)
	Total				10.000.00	
	Total				10,800.00	
	MRMallapur L Gulmohar Resi Door shutters i Ram Babu P.Sai Kumar 03/03/2021	MRMallapur LLP Gulmohar Residency Door shutters fixing at A-102,104,10 Ram Babu P.Sai Kumar 03/03/2021 Item Head Item Description A-block Maindoor Bedroom doors Toilets	MRMallapur LLP Gulmohar Residency Door shutters fixing at A-102,104,105,205 Ram Babu P.Sai Kumar 03/03/2021 Item Head Item Description Quantity A-block Maindoor 4.00 Bedroom doors 12.00 Toilets 8.00 Utility 4.00	MRMallapur LLP Gulmohar Residency Door shutters fixing at A-102,104,105,205 Ram Babu P.Sai Kumar 03/03/2021 Item Head Item Description Quantity Units A-block Maindoor 4.00 No's Bedroom doors 12.00 No's Toilets 8.00 No's Utility 4.00 No's	MRMallapur LLP Gulmohar Residency Door shutters fixing at A-102,104,105,205 Ram Babu P.Sai Kumar 03/03/2021 Item Head Item Description Quantity Units Rate A-block Maindoor 4.00 No's 450.00 Bedroom doors 12.00 No's 375.00 Toilets 8.00 No's 375.00 Utility 4.00 No's 375.00	MRMallapur LLP Approved by: Gulmohar Residency Sign: Door shutters fixing at A-102,104,105,205 Ram Babu P.Sai Kumar 03/03/2021 Item Head Item Description Quantity Units Rate Amount A-block Maindoor 4.00 No's 450.00 1800.00 Bedroom doors 12.00 No's 375.00 3000.00 Toilets 8.00 No's 375.00 3000.00 Utility 4.00 No's 375.00 1500.00

Prahl



JREMENT	SHEET							
company Name:	MRMallapur LLP				Approved b	Ramprasad		
Project:	Gulmohar Residency				Sign:			
Work Description:	Door shutters fixing at A-102,1	04,105,205						
Contractor Name:	Ram Babu							
Prepared By	P.Sai Kumar							
Date:	03/03/2021							
			A	В	С	D	E= AxBxCxD	F
S No.	Item Head	Item Description	Length	Width	Height	Nos	Quantity	Units
1	A-block	•						
	Doors with hardware, stoppers	Maindoor	1.00	1.00	1.00	4.00	4.00	No's
		Bedroom doors	1.00	1.00	1.00	12.00	12.00	No's
		Toilets	1.00	1.00	1.00	8.00	8.00	No's
		Utility	1.00	1.00	1.00	4.00	4.00	No's
				-	-			

2 v dr.R